SAP ABAP table GRISDEA {Actual Line Item Table for Insurance (DE) - Rollup}
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MANDT [CLNT (3)]
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MANDT [CLNT (3)]

BUKRS [CHAR (4)]
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MANDT [CLNT (3)]

LAND1 [CHAR (3)]
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MANDT [CLNT (3)]

MSEHI [UNIT (3)]
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TRTYP [CHAR (3)]

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]
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MANDT [CLNT (3)]

DOCTY [CHAR (2)]
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MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

TBDLS

LOGSYS [CHAR (10)]

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

TGSB
MANDT [CLNT (3)]
GSBER [CHAR (4)]

TLXXBEB

MANDT [CLNT (3)]
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BUKRS [CHAR (4)]

BEBER_VX [CHAR (3)]

TLXXFUB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

0..N

FUBER_VX [CHAR (3)]

TLXXGZA

MANDT [CLNT (3)]
BUKRS [CHAR (4)]
GZART VX [CHAR (2)]

TLXXRSA

MANDT [CLNT (3)]
BUKRS [CHAR (4)]

RSART_VX [CHAR (2)]

TLXXVAL

MANDT [CLNT (3)]
BUKRS [CHAR (4)]
VSARL VX [CHAR (6)]

TTYP
AWTYP [CHAR (5)]




